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FE | 2Zwe BALEE Rl B U PPN
(t) (t) (t)
H25.4.2| SUEZ BN SRERAE £ >~ X — 6,604 t Ot| 6,604t -
H25.4.2|/3y 7 7 —% 0t 198t| 6,406t -
H25.5.14| 2 EHE R 0t 56t| 6,350t -
FRC | H25.10.28| (#k) FRANEEZE 0t 10 t| 6,340 t| BEGERIT
254 | H25.10.28| (B) STt a>HiLa > b 0t 3t| 6,337t -
H26.2.13|h-K v7)-347409 (#k) (7 WT/7794y (BK) ) 0t 50t| 6,287t -
ERR25FE 5T 4 XNy 7 7—2%BR<| 6,604t 119 t|5% 6,287 t
H26.6.9| (k) U —> -2 v A 0t 10t| 6,277 t|LeeamBRT
TR | H27.2.20|=ZUF JU—2 (] (BrE— () HLxIEE) 0t 10t| 6,267t -
26FEE
FR26EE 5t 214 0t 20 t|7% 6,267 t
H27.43| (B) ST a > HIiL& > b 0t At| 6,263 t|urarEsg
H27.4.14|KFHi%PT 0t 1t| 6,262 t|LuramEs
H27.4.16| () Z&RH 0t 11t 6,251t -
H27.99|=2ZUF J U—X@#) 0t 10t| 6,241t -
TR | H27.11.2| 0 — v 75 X 0t 4t| 6,237t -
2T | H27.11.17 (B) SWI%E 0t 5t 6,232 tluramET
H28.1.25( AL E— (%) (1377-AHOSOYA. S ITi5/E) 0t 6t| 6,226t -
H28.3.30| AL E— (#) 0t 29t| 6,197t -
ER2TERE & 8% 0t 70 t|7% 6,197 t
H28.4.28| KX F~ Y & (k) 0t 30t| 6,167 t|LraRERT
H28.6.213 A AH (£R) 0t 55t| 6,112 t]LEeaRET
H28.6.6| 7/ E— (#) (2377-LHOSOYA. ST H/E) 0t 2t| 6,110t -
H28.6.27| (#k) 74 X 0t 100t| 6,010t g
FRC | H28.7.13[7 U —>T7Z R (k) (L>&ZILDZvir) 0t 2t 6,008t -
284 | H28.12.14|B— v v HE4 L% )E 0t 6t 6,002 t|urargs
H29.3.31[H28BDERA 7t v Figq (AL x2) 0t 28t| 5974t -
H29.3.31|H28 8 DERCO24 7+ v k 0t 142t| 5,832t -
FRk28ERE 51 1 XEDERCO2F 7t v o2& < 0Ot 223 t|5% 5,832t
H29.6.23| (#¥k) 74 X 0t 100t| 5,732t -
H29.6.29|=2 U F J U — X (k) 0t 10t| 5,722t -
H30.1.26|(#) H @5 17 0t 5t| 5,717 tjurerszs
H30.1.26|(B)HmEESRt > % — 0t 5t 5,712 tluearEsg
g5 |_H30.1.26 (B)XIRA 0t 10t| 5,702 tlurearEs
S H30.1.27| (%) K18 0t 50t| 5,652 t|uramEs
~ | H30.1.27| (k) &8 0t 50t] 5,602 t{wramss
H30.2.15| A3 () (SB/X7— (#) ) 0t 1t| 5,601 t|rraonstan
H30.3.31|H298 D ERCO24 7+ v k 0t 137t| 5,464t -
TR29EE 51 81F XEDERCO2#+ 7t v b %< 0t 231 t|7% 5,464 t
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(t) (t) (t)
H30.4.16| (B) I Y& b 0t 5t 5,459 t| LuramRT
H30.4.18| (#k) KF1LRk 0t 100t| 5,359 t|wuramps
H30.5.1| (#k) 77— FET 0t 50t| 5,309 t|ueamEs
H30.5.16| A% (#k) (SB/X7— (#) ) 0t 1t| 5,308 t]|rrsamstan
H30.5.24(H29E D ERA 7t v bR (HLx ) 0t 27t| 5,281t -
H30.5.31| (&) /st 0t 2t 5,279 tluramgs
H30.5.31| (B) KEREF 0t 5t| 5,274 tlueamRs
H30.6.28| (¥k) 74 X 0t 100t| 5,174t -
H30.7.7| (#%k) 75 2T LE&Et 0t 50t| 5,124 t|urarszs
S H30.7.30| (B) FMEBEKE 0t bt 5,119 t]LeamBRT
s H30.9.3| A/ x 0 (#k) (FAHAZRWIIE) 0t 10t[ 5,109t z
| H30.9.5( (Br) RAR T > 78R 0t 125 t| 4,984 t|weamns
H30.9.5| (%) WEX 7V v 7 kiLIH 0t 10t| 4,974 t|ueamgs
H30.10.18| (#%k) B/ av Y& b 0t 50 t| 4,924 t|LeecmET
H30.10.18| X4 "y <) —F+ (B) KFREHE 0t 50t| 4,874 t|uramgs
H30.1221|A=Y v & (#) 0t 20t| 4,854t -
H31.1.9| (B) SMIHE 0t 5t 4,849 tluramgs
H31.2.15|A %3 (%) (SB/¢7— (B) ) 0t 10 t| 4,839 t|»raomsten
H31.3.31|H30E D ERCO2A4 7+ v k 0t 179t| 4,660t -
ERR30EE 51 18%F XEDBERCO2#4 7t v F o %B&< 0t 625 t|5% 4,660 t
H31.4.16|KFH REZ (%) 0t 5t 4,655 tluramga
R15.13|hixa (k) (F—rZU—> (Bk) ) 0t 4t 4,651 t]prxamstai
R1.6.7| (¥k) 714 X 0t 100t| 4,551t -
R1.6.12|hix2 (k) (F—rZ7U—> (Bk) ) 0t 2t| 4,549 t|prransan
R1.7.5| (k) BT L EHuX 0t 123 t| 4,426 tfurerss
R1.8.2|/\PTHRZE  (#k) 0t 5t| 4,421 t|LeeamsEiT
R1.8.2| (B) KREREF 0t 15t| 4,406 t| uramEs
R1.8.2| (B) WRkEikETI/ErT 0t 10t| 4,396 t| Lreamrs
R1.93|Hixa (k) (F—brZ7VU—> (k) ) 0t 1t 4,395 t]praanstzu
R1.9.11[ (%K) WHER 7Y > 78T 0t 20t| 4,375 tfurarss
R1.9.11| (%) WAX 7V v KILTH 0t 10t| 4,365 tluearEs
A7 R1.9.17|0—Y > HEELE 0t 6t 4,359 t|uramgs
_ . .| RLI25|H30EDERA 7t v FE& (At 2) 0t 28t 4331t -
AR R1.11.11|Anx2a (k) (SB/7— (%) ) 0t Tt| 4,324 t|prramsen
R1.11.29| (B) I a YL &> b 0t 5t 4,319 tluramgT
R1.12.3[ (%) v T RO EBEE 0t 10t 4,309t -
R1.129|Ah/xa (BK) (T—rT7U—> () ) 0t 2t 4,307 t|prxatstai
R2.1.14|Axa (BK) (T—rT7U—> () ) 0t 1t| 4,306 t]pr+anstau
R2.2.14] (%) =Ixv b 0t 50t| 4,256 t|uramgs
R2.2.17 (#k) B/ avHIiL&> b 0t 50 t| 4,206 t|LamERT
R2.2.26|HERIZE (#k) 0t 25t 4,181t -
R2.3.27| (B) Av&EHT 0t 50 t| 4,131 t|iLreamEiT
R2.331|R1IEDERCO2A 7t v k 0t 200t 3,931t -
SHTEE 51 22 XEDERCO2#4 7t v F %< 0t 529 t|7% 3,931 t
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(t) (t) (t)
R2.4.16| (k) ®/ET L EBuE 0t 23t| 3,908 t|eamEs
R2.6.5| (Bk) 74X 0t 100 t| 3,808 t|LaamsET
R2.6.19[:KFH XEXE (k) 0t 4t 3,804 t|uramgs
R2.7.14|R1IEDERF 7+ v bEgR (HiLx D) 0t 24t| 3,780t -
R2.824| A2 (B) (SB/s7— () ) 0t 9t| 3,771 t|»prsamsten
R2.8.24| () KEEFK 0t 15t 3,756t z
R2.8.24| () EEERETIERT 0t 5t| 3,751t -
R29.8| A% (k) (EHIIL—TARE () ) 0t 10 t| 3,741 t|praonsten
R2.9.18| () WHZX 7Y v 7 &8FmR 0t 10t| 3,731 tluramps
R2.9.18] (%) WHAX 7Y >/ KILTIH 0t 10t| 3,721 tlursmps
R2.9.28| () t=RHEHE 0t 5t 3,716t z
R2.9.28| (k) => v - XvFF v R 0t 3t| 3,713 t| BEGRIT
A R2.11.11] (%) Tor i labo 0t 100t| 3,613 t| BEXERLT
. R3.1.26] (%) b/ avHIi &>t 0t b0 t| 3,563 t|LrecRERT
= R3.2.1| (B) RBHEHEK 0t 5t 3,558 tluramss
R3.2.12|BERE (k) 0t 40t| 3,518t -
R3.2.18[ U /X=X (H) 0t 100 t| 3,418 tjLreamEsT
R3.2.26| (k) BAZE 0t 8t| 3,410 t|wureamEs
R3.3.1| (B) S IFFEMa> YLz bk 0t 5t 3,405 t|LreamET
R3.3.15|=aNxX—kF =&k 0t 100 t| 3,305 t]wrearET
R3.3.16|< /L O &8 (1) 0t 10t| 3,295 t| EEURIT
R3.3.19| (B) EE 0t 6t 3,289 t|LramEsg
R3.3.22[KE¥7 (#K) 0t 5t| 3,284 t| EEURIT
R3.3.25( (#k) =f@@EHE 0t 11t| 3,273 t]umemes snes
R3.3.31|R 2 BDERCO24 7t v b 0t 185t| 3,088t -
SH2EE 51 241 XEDERCO2#+ 7t v b %K< 0t 658 t|5% 3,088 t
R3.419| (%) D - I - P 0t 8t| 3,080t -
R3.4.20(HAF5EE% (B) 0t 3t 3,077 t| BEGERIT
R3.421| (k) ¥ 7€ X 0t 6t 3,071 t]wuramga
R3.4.23| (B) BREREI KL 0t 10t| 3,061 t|weamgT
R3.4.28| (B) BAME=E 0t 5t 3,056 t| BEGEIT
R3.5.17|A)L % (#) (SB/x7— (%) ) 0t 8t| 3,048 t|rrxamstan
R3.5.24] (#k) #ET L ERGE 0t 10t| 3,038 t| Leamris
R3.5.25 (k) =& 0t 5t| 3,033 t| BERIT
R3.5.25| (k) 1EBEH 0t 5t| 3,028 t| BEURIT
A0 R3.5.25| L ¥k (%K) 0t 63t| 2,965 t|ramEs
e R3.5.27| (k) 714 X 0t 100 t| 2,865 t|LaamET
- R3.6.3| Az (i) 0t 10t| 2,855 t|rrxanstau
R3.6.15 (#k) KiL&) 0t 150 t| 2,705 t|wreamss
R3.6.15| (B) ERIEMIE 0t 10t| 2,695 t| LarEg
R3.6.23| () AEBRES 0t 5t 2,690 t]uramRs
R3.6.24[KFH X EZE (k) 0t 5t 2,685 t]urarEsg
R3.6.28| () KEEFK 0t 20t| 2,665 t| BEERIT
R3.6.28| () TREiR<E TIERT 0t 5t 2,660 t] BENERIT
R3.6.28] (k) > > - X v FTF+ R 0t 3t 2,657 t| BEERLT
R3.6.29| (Bk) R ~_v 7 0t 50t| 2,607 t]LretRERT
R3.7.6| (%) L3 >HYIL& > b 0t 20 t| 2,587 t|waRRT
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(t) (t) (t)
R3.7.6] (k) Fi&: 0t 5t 2,582 tlurarEs
R3.7.7] (B) #7tX 0t 50t| 2,532 t|wueamiriT
R3.7.7| () ZMEUERT 0t 5t 2,527 tlurarss
R3.7.15( (#k) 74 bR & v 7 0t 10t] 2,517 t|ueamET
R3.7.15| (k) h > &EHT 0t 50t| 2,467 t|weamEs
R3.7.15| (B) FHAHr—V > 0t 100t| 2,367 t|uramps
R3.7.15| (#%k) FHJL 0t 5t 2,362 t]uearEg
R3.7.15| () )I| EiE#& 0t 5t 2,357 t| EEERIT
R3.7.21| (B) BEt> b 7 LE% 0t 23t 2,334 t| BEURIT
R3.7.16| (%) =F X 0t 15t| 2,319 t|iLreamET
R3.7.21|BEREZE () KFXIE 0t 11t 2,308t -
R3.7.26| X 7> L R T#E (#) 0t 10t| 2,298 tluearEs
R3.8.4| (BK) 74 —KXT 1 Hhl 0t 12 t| 2,286 t| SEGREIT
R3.8.4| (Bk) 3>~ 4 Lk 0t 60t| 2,226 t|LreemET
R3.8.23| (B) AXEM® 0t 20t| 2,206 t|wramgs
R3.8.23 (Hk) ALkt 0t 20t| 2,186 t|wLkamES
R3.8.23| EHIT X (#) 0t 20t| 2,166 t|LeamEs
R3.8.24| BRI a YL &> b () 0t 7t 2,159 t| BEUERIT
R3.830|R2EDERA 7+ bER (HLx D) 0t 18t| 2,141 t|»raamstan
R3.830|R2h~ FIDT A7ty bEEHR (HiLx 1) 0t 2t] 2,139 t|prxamstan
R3.8.31| (B) =# 0t 10t| 2,129 tlurerss
R3.9.3| (B) AN BEEME 0t 20t| 2,109 t| BEUERIT
R3.9.3] (#k) MHEmM/E 0t 25t| 2,084 t|LeamRT
aerit R3.9.8| (B) @M 0t 8t| 2,076 tluramns
3ERE R3.9.8| (BA) S <K BHhEEH 0t 2t 2,074 tlurearssg
R3.9.8] (k) A > T A 0t 17t| 2,057 tlurerss
R3.9.8| (B) &EFEE 0t 8t 2,049 tluramgT
R3.9.10| () =EETHKI 0t 5t 2,044 t| BEERIT
R3.9.10| (#k) KU =F 0t 10 t| 2,034 t| LreamET
R3.9.13[(7 > 754 L. () 0t 20t 2,014 tfursmgs
R3.9.13| (#%k) To~ 0t 10t| 2,004 t|wresRET
R3.9.13(H > o U —> (#k) 0t 5t| 1,999 t|LeeamsEiT
R3.9.14| (¥k) HEER 0t 5t 1,994 tluramgs
R3.9.14| (B) HEZERt VX — 0t 5t 1,989 t|LramE
R3.9.24| (Bk) HEWKREHEE 0t 50t| 1,939 t|wurearss
R3.9.24 (%) BRFZFTEBEA 0t 20t| 1,919 t| BEURTT
R3.9.30| (¥k) H»7= 0t 5t 1,914 t|wreamRET
R3.10.1[/NTARZE  (#k) 0t 11t| 1,903 t] BEERIT
R3.10.1|LEEE (FK) 0t 10 t| 1,893 t|wreamET
R3.10.8] TOMONARI (%) 0t 3t 1,890 t| EERIT
R3.10.8|KX& (#k) 0t 20t| 1,870 t|weamEs
R3.10.8| K= (#k) 0t 20t| 1,850 t|eamEs
R3.10.8| KiBBE (#k) 0t 20t| 1,830 t|eamEs
R3.10.8| (B) FdHH— L 0t 18t| 1,812t H—4%w
R3.10.11| (%K) B> Z 4 >~ 0t 5t 1,807 tlurarss
R3.10.13| A% () (F—rZ7U—> (%) ) 0t 2t] 1,805 t|rrxanstai
R3.10.20| (B) ST #E 0t 5t 1,800 t]wreamET
R3.11.5| (%) WHAX 7Y > 7 &Err 0t 10t| 1,790 t| ureampsr
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(t) (t) (t)
R3.11.5| (%) WHAX 7V v KILTH 0t 10t| 1,780 t|urearEs
R3.11.5| (%) FAHI—KRL—> 3> 0t 25t 1,755 t|LueamE
R3.11.10| (B) HAEMESE 0t 50t| 1,705 t|uramss
R3.11.18| (k) & A aEtLy & — 0t 5t 1,700 t|uearEsg
R3.11.19| L &b &R (B) 0t 5t 1,695 t| BENERTT
R3.12.6[ (¥k) pcb 0t 12t| 1,683 t|Lureamsrs
R3.12.7|hx3a (BK) (T—r7U—> () ) 0t 1t| 1,682 t]rrsansau
R3.12.10| (&%) =wvav 0t 20t| 1,662 t|lLcR%RT
R3.12.14| () EH/ERT 0t 10t| 1,652 tluearss
R3.12.14] (#%%) KibAh> b — 0t 10t| 1,642 tlursmps
R3.12.16| & fH&EX (B) 0t 5t 1,637 tlwurarss
R3.12.20[ (#k) 7—/%X 0t 10t| 1,627 t|x7EReE
R4.1.13| (#k) 88 81 B 0t 15t| 1,612 tlurearss
RA.1L17|(BR) e/ av P x>k 0t 50 t| 1,562 t|wLramRT
R4.1.24( ()& HEEH 0t 5t| 1,557 t| BEURIT
RALII BAESER (1) 0t 20t| 1,537 t|] BEURIT
R429|Hxa (#k) (SB/S7— (¥) ) 0t 9t] 1,528 t|rrranzan
A0 R4214((B)T 7 /Y —EX 0t 10t| 1,518 t| BEGEST
i R4.2.15|(B) BH B 5 0t 5t 1,513 t]wrearEsg
> RA217(> v THEFa YLz v k(1) 0t 50t| 1,463 t|wamEs
R4.2.25| (%K) B A= 0t 8t| 1,455 t|wramET
R4.3.1| B ¥ RI2 (1) 0t 40t| 1,415t -
R4.3.7|(#R) S AR FE LT E AT 0t 30t| 1,385 t|wuramps
R43IL[(BR) 7 7 —RA b T T4 X 0t 10t| 1,375 t|xzemeE
R4.3.18|) 1B == (1K) 0t 10t| 1,365 t|LramEs
R4.3.22|(#k) 5 p EASE 0t 10t| 1,355 t|ueamss
R43.23[ XY —T 2572 / (%) 0t 10t| 1,345 t| BEURT
R43.23|hxa (BK) (T—rT7U—> () ) 0t 1t| 1,344 t]rrsanstan
R4.3.28| (k) @ 0t 50 t| 1,294 t| BEXERTT
R43.28|(K) 74—+ T L - TR 0t 50t| 1,244 t|weamgs
R4.3.28|ERT 7 / A (¥) 0t 100t 1,144 t|wuresmigs
R4.3.29| (k) /\ & & &) 0t 10t| 1,134 tlursmps
R4.3.29| (k)Y = %+ R 0t 10t| 1,124 t|x7=memE
R4.3.30( () /L 7 #EZ2FR 0t 10t| 1,114 tluresmps
R4.3.31|R3EDERCO2H4 7+ v k 0t 17t 1,097 t -
SH3EE 51 10318 XEDBRCO2F 7ty F %< Ot| 1,974 t|5% 1,097 t
R4.4.1[#k= £ Joy Garden 0t 5t 1,092t E—44
R4.4T7|F X b —7EPIE ALLUMERXF 0t 5t 1,087 t|xkriemeE
R4.4.20| () & /E&E % 0t 5t 1,082 t|wuramigs
R4.5.24|(¥R) BT L EHUE 0t 15t 1,067 tluramps
A0 R4.6.1|World Utility (1) 0t 2t] 1,065 tfusemnn can-n
e R46.1|(HE) 7Y LO—XH—FT > 0t 2t 1,063 tfumenas can-n
- R4.6.2| (¥k) %= 0t 5t 1,058 tlursmss
R4.6.6({(#)D + | - P 0t 8t 1,050t -
R4.6.6[(B) Y 72 0t 50 t| 1,000 t|wurames
R4.6.14[KFH X EEZE (1) 0t 5t 995 t| LamrT
R4.6.13| () % MBLEFT 0t 5t 990 t|LleamIBRsT
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FE
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(t) (t) (t)
R4A.6.14|(BR) 7 14 X 0t 100 t 890 t|weamET
R4.6.21((BR) > AT 0t 50 t 840 t|LkamBIT
R4.6.21|ZI8 7 L — > (F) 0t 50 t 790 t| LeampsT
R46.24( L7 = > AT %(H) 0t 10t 780 t|wLkamBT
RATIINPOEAZ D B YR —k 0t 5t 775 t| et RERT
R4.7.7| (k) B I AJS 0t 10 t 765 t|x7=RemE
RAT8|(KK) Y =Y avTHA Yy - R—ILT 4 VIR 0t 50 t 715 t| BEUERTT
R4T.I2|(BR) T A4 F R &% w7 0t 5t 710 t|weampsT
RA.7.14|(B) KEZEH 0t 20t 690 t| SEXIRIT
R4.7.14|(#R) E Bt & TEFT 0t 5t 685 t| SEURIT
RATIA|(BR)~> > - A TF R 0t 3t 682 t| BEEERTT
R4.7.14| ALz 2 (1) 0t 50 t 632 t -
RA.7.15|OA L BIEZE T FHAT 0t 10 t 622 t| BEUERTT
R4.7.15|HEHIE T ST F5D 0t 5t 617 t| BEXIRIT
R4.7.28| (%K) A HT 0t 10 t 607 t| EEERTT
R4.7.28|(BR) L P& > b 0t 20t h87 t| LEeamBIT
R4.8.2|(B)FIGREEE 0t 10t B77 t| LreamET
R48.9|(BK) I >4 A 1Lfa 0t 60 t 517 tjuramEs
R4BIT|(B)r A - TR - TV &—TF54 R 0t 10 t 507 t|wreamEs
R4.8.23|(B)=# 0t 10t 497 t| & RERIT
R4.8.25| () A Fu7ki 0t 20 t 477 t|ursmire
RA.9.6| ()R EZE 0t 51 472 t| BEURIT
R4.9.16| HEEIHRMES 2,000 t Ot 2,472t -
R4.9.21| () EMEMIE 0t 5t 2,467 tlurerss
R4.9.22| (k) ETFT X 0t 5t 2,462 t|wLrarRET
R4927T|IRIEDERAF 7t v bEHm (Hix 1) 0t 20t| 2,442 t|praonsen
R4927[R3+~ FIITH 7t v rEGR (AL xD) 0t 2t 2,440 t|prxanan
R4.9.28|E)= [ 0t 10t| 2,430 t|LeamsERT
R4.9.29(Sustineri(#k) 0t 20t| 2,410t -
R4.10.6| (%)) || HEE % 0t 2t 2,408 t]usemss ean-v
R4.10.14| (B NA R 7'V » 7 &ERT 0t 10t| 2,398 tlureamps
R4.10.14|(BR)NE R 7'V » 7 KIL T35 0t 10t| 2,388 t|wuramET
R4.11.2| HLx2 (BR) (SB/YT7— () ) 0t 24 t| 2,364 t|prranaen
R4.11.14[{(#R) 7 — /¥R 0t 10 t| 2,354 t|xF=meE
R4.11.15| (%) EB1E 0t 5t 2,349 t| EEERIT
R4.11.15|(BR) 1 1AE % 0t 5t 2,344 t| BEGERIT
R4.11.15(h A% (H) 0t 1t| 2,343t| BEUGRIT
R411.21|R Y —T R T 7 / (&) 0t 5t| 2,338 t|LeamEiT
R4.11.21| TOMONARI () 0t 5t 2,333 t]wurearEsg
R4.12.12[ (%k) 71 E 4 T L 0t 20t| 2,313 t|wreamEs
R4.12.15((F) LB EHmEm = 0t 5t 2,308 t|uearEsg
R4.12.23[ AL 3 2 (#k) (B9 70 — 7R (#R)) 0t 9t 2,299 t|rrxamnan
R5.1.26|(B)#TEBXLE 0t 5t 2,294 t]uarEsg
R5.1.26] (#k) RiLlih> b U — 0t 10t| 2,284 tlureampris
R5.1.27|1H > 27 U —> () 0t 10t| 2,274 t|LeeamEs
R5.2.7 (#f) 77 —X 754X 0t 10t| 2,264 tluresmps
R5.2.8| (%K) 1T A B < X EBH 0t 10t| 2,254 tluresmps
R5.2.8| B Z L () 0t 5t 2,249 tlurarss
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£E | 2Zre BALES el B Bl N
(t) (t) (t)
R5.2.8|(#k) B A= 0t 8t| 2,241 tluremgs
R5.28|(k) e/ avHIiL& > b 0t 50 t| 2,191 t|LramEiT
RE.2I|HEREF B L EA L 2 —T 0t 5t 2,186 t|LamBRT
R5.2.15(|HERE (k) 0t 40t| 2,146t =
R5.2.16|7 > 754 L. (#) 0t 20t| 2,126 tjuremss
R5.2.16|(#k)Elevation 0t 3t 2,123 t)LramRT
R5.2.20[3EEAH (Fk) 0t 100 t| 2,023 t]LeaRET
R5.2.27| (k) RV — 0t 5t 2,018 tlurarzs
R5.3.14[H£FKE (#) 0t 5t 2,013 tjurerss
R5.3.14(1lLfefb sk T  (¥k) 0t 2t 2,011 t]wuramErs
R5.3.14|(#%) 7 4 — - T/, - T X 0t 30t] 1,981 t|uremEa
A0 R5.3.17|(B) A= 0t 5t 1,976 tluramss
i R5.3.17((B) 77 7 0t 2t 1,974 tlurargs
- R5.3.17[() 0 £H Y IE 0t 2t] 1,972 tlursres
R5.3.17|(#k) <~ )L A /7 IKFE 0t 2t| 1,970 tfurerss
R5.3.17|{bEE Barmls 0t 2t 1,968 tluramgs
R5.3.17| (%K) E 0= 0t 2t] 1,966 t|uramEsg
R5.3.17 | (#k) & #T 0t 2t 1,964 tlurearss
R5.3.17|(H) 0t 2t| 1,962 tfurearss
R5.3.22((#k) U > 7 R 0t 50t| 1,912t -
R5.3.22((#k) 7 >~ Xk — L 0t 5t 1,907 t{uearss
R5.3.23|(¥R) s EAE 0t 10t| 1,897 t|wLreamET
R5.3.31|R4 SEDERCO24 7+ v k 0t 18t| 1,879t -
SMAERE 51 811 2,000t| 1,200 t|5% 1,897 t
R5.4.8|(B)BHEHH 0t 5t 1,874 tluramgs
R5.4.25[u7548 0t 2t 1,872t -
R5.5.11|{() 72 =AHL - 21— 0t 30t] 1,842 t| BEGRIT
R5.5.23[(B)XBXIT=H 0t 5t 1,837 tlwurearEsg
R5.5.24(LpeiF b 2R (FK) 0t 10t| 1,827 tjurearEs
R5.5.30|#) 1| B8 (1) 0t 10t| 1,817 tlwurearEs
R5.6.2|(k) h > X T 0t 50t| 1,767 t|LBamRRT
R5.6.5| (k)7 1 X 0t 100t| 1,667 t|iueamEsis
R5.6.16((B)FHE= 0t 10t| 1,657 t|rearEs
R5.6.19|() R T I~ — A v FKF 0t 20t| 1,637 tfurarss
A0 R5.6.22|(B) f iEiE 0t 15t| 1,622 tlurearEs
S R5.6.28|(BR) 74 R & v 7 0t 5t 1,617 tluramgs
| R5.6.28[=lE7 L —>(H) 0t 40t| 1,577 t|LpamEs
R5.7.6| (%) BT L EBUX 0t 18t| 1,559 t|uram®ET
R5.7.7|(#k) B3 A JE 0t 10t| 1,549 t|x7E=mes
R5.7.10| AL % 3 (1) 0t 50t| 1,499t -
R5.7.19| (&) Z M ELERT 0t 5t 1,494 t|wuramga
R5.7.20|(#k) ¥ >~ % £ 0t 10t| 1,484 t|uraR®ET
R5.7.20((B)BA TR 0t 30t 1,454 t|uramgs
R5.7.20( () REZEX 0t 25t 1,429 t| BEURIT
R5.7.20| (&) Eiik s T/ERT 0t 10t| 1,419 t| BEUERIT
R5.7.20[{()~> > - X7+ R 0t 5t 1,414 t] BERTT
R5.8.7|(MR)RED P& > k 0t 20t| 1,394 t|LeamE
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£E | 2Zre BALES el B Bl N
(t) (t) (t)
R5.8.17|& XA M & 0t 2t| 1,392 t|wLeamRT
R5.8.17((B)H# /£ X 0t 50t| 1,342 t|weamisT
R5.8.24|(#k) EBFKE 0t 66t| 1,276 t| BEURIT
R5.8.25((#%) 3> 4 1 1Lka 0t 60t| 1,216 t|uramss
R5.9.2|ZRIEAD W ITSHHEE 0t 10t| 1,206 t|LeeamBRT
R5.9.8:KFH REZE (%) 0t 5t 1,201 tlurarET
R5.9.11 | (#k) K3t 0t 10t| 1,191 t| BEURIT
R5.9.15] (%K) A ALk 0t 20t| 1,171 tjureamps
R5.9.25| ()@ 0t 10t| 1,161 t|wrearEs
R5.9.26|%kX&tt h x4 0t 13t| 1,148 t|LeeamRT
R5.9.29| (#k) IB4rs 5 0t 50t| 1,098 t|wuramms
R5.10.31|(#&%) EF & 0t 5t 1,093 t|wrarBRT
R5.10.31| (%) F:&E 0t 10t| 1,083 t|wuramgs
R5.11.8|(H) Bk & 0t 20t| 1,063 t|wramgs
R5.11.10|(R) 7 7 — R 7T 4 X 0t 10t| 1,053 t|:k7=meE
R5.1L.1I0|(BR) 7 A - 33 2=/ —> 3> 0t 2t| 1,051 t|umemssean-n
R5.11.17|(#k) 7 — /¥R 0t 10t| 1,041 t|x7EReE
R5.11.20({(%) R X 7'V > 78R 0t 10t| 1,031 t|wuramgs
R5.11.20|(BR)NEHX 7'V > 7KL I 0t 10t| 1,021 t]LeeamBT
R5.11.22| (#R) FAZAS RS 0t 23 t 998 t| BHURTT
S | R5.11.24|(MR)BEYDEL S5 0t 5t 993 tliLeamsrs
5&EE | R5.11.27|R Y —ZT X T 7 /() 0t 5t 088 t| ikamET
R5.11.27|(#) & E&1ERR 0t 20 t 968 t|LramEs
R5.11.27 (7F5li)7J"/A5 0t 20 t 948 t| Leamps
R5.11.27(AME1E 5 TR — LT 1 > 7 Z (1K) 0t 20 t 928 t| LkeamBRT
R5.12.14|O0A' L B &2 L 0t 10t 918 t| BEEXERIT
R5.12.15|(B) 7 — 7 1 BEHKE 0t 5t 913 t|eamBRT
R6.1.18[ TOMONARI (#k) 0t 10 t 903 t| eamERT
R6.1.30|(B)HrEEX LE 0t 5t 898 t| Lamps
R6.1.31|FEN 5 0t 8t 890 t -
R6.2.8| (%) 1 y7x 0t 50 t 840 t -
R6.2.9|(#K)D - 0t 8t 832 t -
R6.2.15| B EHIE (frﬂ%) 0t 40 t 792 t -
R6.2.15 (ﬁ)/\fmﬁ%r 0t 10 t 782 tl ueamsps
R6.2.27|(#k) 7 v & 0t 10 t 772 tlx7zReE
R6.3.12((#k)7r A - IR _— 0t 60 t 712 tlueamps
R6.3.12|(#k) 74—+ T L + T X 0t 30t 682 t| LA RBRIT
R6.3.12| (¥k) e EASE 0t 10 t 672 t|uramms
R6.3.27|HEB B M (#K) 0t 5t 667 t|LrampT
SHSEE &5 624 0t| 1,212t| 3% 667t
ER25~4F5EE 5 330 XNy 7 7 —%, EOERCO24 71y FHEEKL 6,861 t| EGEEDOA)
8,604t 7,937t 7667t
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